
I WINDING RESISTANCE 
i 

MODEL G I  G2 'Qa 
TB2400 .57 NIA 1.87 ] T4000 .65 .65 2.25 

,6000 .24 -24 0.55 

I 

i 

ROTOR 
0.98 
0.75 
1 .oo 

REPLACEMENT PARTS 
LIST FOR MODELS 
TB2400ClB 
TB4000C/B 
TB6000ClB 

- 
USED ONLY ON THE TB4000C & TB6000C 

I 
I; REF DESCRIPTION I TB2400CB I TB4000CIB I TB6000ClB 1 

END COVER 
CAPICATOR 
CAPACITOR MTG STRAP 

RECEPTACLE 110 VOLT 
COPPER STRAP 
CIRCUIT BREAKER 

RECEPTACLE 240 VOLT 
GROUND LUG 

WINCO, Inc. 
225 So. Cordova Ave 
Le Center, MN 56058 



REF 

- 001 
002 
003 

004 
005 
006 

007 
008 
009 

01 0 
01 1 
01 2 

01 3 
014 ' " 
01 5 

01 6 
01 7 
01 8 

DESCRIPTION TB2400ClB 

. . . .  

STATOR ASSEMBLY 
. ... ;. . : - 

ROTOR ASSEMBLY W/ BEARINGS 
BEARING BRACKET 

DRIVE END BREAING BRK ASSY 15577-000 
1/4-20 THROUGH BOLT 15068-003 
1/4-20 HEX NUT 00638-000 

1/4-20 ACORN NUT 
114 SPLIT LOCKWASHER 
END COVER ASSEMBLY 

10-32 MACHINE SCREW 1 501 3-000 
#I0 INTERNALTOOM LOCKWASHER 21 975-000 
TOLERANCE RING 15133-1#1-? 

SHIM 15688-000 
DRNE END BEARING 64562-000 
.25 SQUARE KEY 4420&000 

. . 

REAR BEARING 5021 5000 
DIODE (E4P9) STANDARD 15047-001 
DIODE (E4P9R) REVERSE 1 5047-002 


